
2

RYOBI 12 VOLT, 3/8 in. DRILL REVERSIBLE – MODEL NUMBER HJP003

9

8

16

7

3
12

10

14

2

1

15

13

5
6

4

13
11



3

RYOBI 12 VOLT, 3/8 in. DRILL REVERSIBLE – MODEL NUMBER HJP003

The model number will be found on a label attached to the motor housing. Always mention the model number in all correspondence regarding your 
12 VOLT, 3/8 in. DRILL REVERSIBLE or when ordering parts.  

PARTS LIST

	 KEY	 PART		
	 NO.	 NUMBER	 DESCRIPTION	 QTY	

	 KEY	 PART		
	 NO.	 NUMBER	 DESCRIPTION	 QTY	

	 1	 6612002		  Screw (M5 x 26 mm)...................................... 1

	 2	 670743004		  Chuck............................................................. 1

	 3	 660211038		  Screw (M3 x 5 mm)........................................ 2

	 4	 525992001		  Forward/Reverse Button................................ 1

	 5	 632341001		  Spring Pin...................................................... 1

	 6	 632340001		  Housing Clip.................................................. 1

	 7	 630206007		  Bit Holder....................................................... 1

	 8	 660570004		  Screw (M3 x 14 mm)...................................... 6

	 9	 230494001		  Motor Assembly............................................. 1

	 10	 660230006		  Screw (M3 x 20 mm)...................................... 4

	 11	 270013083		  Switch Assembly........................................... 1

	 12	 202650001		  Gear Train Assembly...................................... 1

	 13	 202649001		  Housing Assembly (Inc. Key Nos. 15-16)...... 1

	 14	 6782045		  Double Ended Bit 
						     (#2 Phillips Head/#6 Slotted x 50 mm).......... 1

	 15	 940114179		  Logo Label..................................................... 1

	 16	 941121185		  Data Label...................................................... 1

			   Not Shown:

			  140157007	 Charger (C123D)............................................... 1

			  130194001	 Battery Pack..................................................... 1

			  990000616	 Operator’s Manual

	 		 8-7-13 
		  (REV:01)




